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That if he threw it, it is accepted — TIXNNT POT ANR

OVERVIEW

The X n3 cites a X2 which states that if the meat of a J277 became 9105 ,Xn0 or
went outside its designated place, there is a dispute whether the 07 should be
placed on the mam (the view of 21¥°9% "), or not (¥ ™). However, even "
admits that if the 07 was 711 on the 12 the j27p is valid." Our moon reconciles
our X713 with a seemingly contradictory ruling.

mooIn anticipates a difficulty:
- N80 9y N¥I PN PPRT 23 Y 9N

Even though the Y52 does not forgive for meat which left its designated place, so

why does *'"1 agree that even by a XX1 if he was P77 the 07, it is %717 since the 7°X is not 7%X7»
for a xx1?*

mooIn responds:
— (3,797 NADIYN WY NIYPY 295 RYPY NN NPT 920 YyWIN? 19

'"1 maintains that 1?97 of the 07 is effective for a X3 that it should be 71%77; he

agrees with "1 in the beginning of 7%°¥» noon —
— nN¥INY 219w 991 "A9sun 1 Awa XOXINY *nYsm NPt N

Who states that P97 is effective to remove the meat from the constriction of
m9own, and therefore it is certain that 71p>77 is effective that the 1277 be accepted —

mooIN proves that it is easier for 777 to accomplish 7X&¥77 than to remove 79°vn:

!'See " 7"7*"wA (and footnote # 4). The y>X (which the 9173 72 wears) forgives various sins that occur in the p"nin.
See 1% ,m5 (Mxn) Mnw which states (regarding the y°X), X7> "1 WrTR> WK DWTRT 1Y DY TR Rip1) 1R 1¥n BV M
MY "197 D TIE7 TRD ¥R 9Y i) oW TR N 737,
% (%,72) 3" 2" M.
3 pw7p WP cannot leave the 7Y, A R¥1 refers to a case where (after the 7v°nw) the entire meat of the 1277 left the
11v before 0777 NPT
5% 7"72 *"w1 addresses this question and states that 7272 A% ,7°% 7°% 311 R27 'YX XYM, However, mooin is not
satisfied with *"w79 and offers an alternate explanation.
3 The v¥ indeed cannot be 7% for the X¥177 7wa (it can never be eaten, etc.); however, the 7p™ 1 is effective even
though the w2 was XX, to the extent that the 127 was 7X717.
® This means that if 72v°72 the 07 was P11 there is no longer 77°v». However one cannot be 72°1n3% P in order to
be ¥ from 119°¥n, for if it would be permitted this would show that (according to Yy ') it is easier 71 RX1°
72°vn (which can be done 1151n5%) than nXx17% (which is effective only 72v°72). See X"wmn.
" Once an animal is designated as a 127p for 2°w7p WP (a NRLA or an 77W), there is 72°¥n 21’0 for using this 1277 (for
one’s benefit) until the 0777 NP> 1, when there is no longer 72°vn.
¥ The '3 W'Y is MooIn derivation from 722w, It is not stated explicitly by ¥ (or ™).
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For X' who rules here that one may be P91t the blood initially and it will be
%717, maintains there (in 79°vn) that the 771 will not be effective to remove

the “w3a from ;793¥7%. It is evident that it is more difficult for the P> 7 to be 72°¥n T XXM
than to accomplish nXx77, therefore if > (and ¥"7) maintain that 7p°77 is 72°¥n 71 X°Xn, they
certainly maintain that 7p>77 is 8X17% noyn.

SUMMARY
TPOT IS XXM a XX from 77°¥n (according to " ¥"9) so certainly it is effective
7R¥772 (even though the y°X is not %77 for Xx1).

THINKING IT OVER

Moo proves that "% is easier than 77°¥nn AX¥7 from the fact that X"9 maintains
that P77 is effective for »1¥> but not for 72°vnn axxy ! However, X'"7 maintains
that one may be 721n3% P77 by XX because he maintains that we are P77 even if
there is no w2 at all (it is not that the 7?>71 accomplishes anything in the 7w2), and
in that case there is no 77°vnn 7X°%° regarding the 7w2a. Where do we see that "1%°1 is
‘easier’ than 79wnn nxy?!'

? See “Thinking it over’.
!0 There will be a ¥ 21°0 on the X¥177 w2 even after AP 1.
' See footnote # 9.
2 See w'wn.
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